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1.on May 28, 1959, monkeys Able
and Baker rode in the Army-developed
Jupiter nose cone for a distance of
1,700 miles. Read the information
provided in photo to find out more
about their journey.

minutes,

4. They experienced weightlessness for 9

b. If their journey lasted 15 minutes, what fraction of the
time did they experience weightlessness? [3.NF.1]
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¢. Use a number line to represent the fraction. [3.NF.2]
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d. Use the number line to complete this sentence. [3.NF.3]
9 — 2 3

1 5 5

€. Use the visual fraction models to explain why the fractions
are equivalent. [3.NF.3,3.G.2]

SHUTTLE PARK

ROCKET ENGINES

1. There are four components of the shuttle stack: orbiter,
external tank and two solid rocket boosters. What
fraction of the shuttle stack components holds the astro-
nauts? [3.NF.1]

total = 4 AL
orbiter = 1 4
CENTAUR

2. Read the information provided in the photo to find out
about the NASA Centaur G-Prime. [3.0A.1, 3.0A.2, 3.0A.3,
3.0A4, 3.0A.9]
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a. The total thrust of the NASA Centaur G-Prime
was . How many thousands are
there in the total thrust?

b. How many Pratt & Whitney engines were used by the
Centaur G-Prime?
b.2

C. Use the information you found to determine how many
thousands of pounds of thrust were provided by each engine.

d. Use the above
information to
complete the table.

Thrust

Engine(s) (thousands of Ibs)

e. Identify the pattern in the table.

f. What is the rule for determining output in the table?

ROCKET PARK

SATURN | [3.0a1,3.043,3.0a7)

. oW many -1 engines do vou see as
1.1 H-1 engines d
you walk beneath the Saturn I Rocket?
8

4. How many H-1 engines would be
needed to build six Saturn I rockets?
Solve using a multiplication sentence.

8x6=48

b. If there were 56 H-1 engines, how many Saturn I rockets
could be bulilt? Write a division sentence and solve.

56/8=7
€. What multiplication fact can you use to solve this problem?

7x8=56

2. Complete this table to compare the lengths of the following

rockets and missiles Iin Rocket Park. Round the lengths to the
nearest foot and to the nearest tens place. [3.NBT.1]

Length Length
Roclfet's e Rounded to Rounded to
Missiles
thenearest the nearest
foot ten feet
NASA Saturnl 189.9 190 190
U.S. Army Jupiter 60 60 60
U.S.Army Junoll 771 77 80
U.S.Army
Redstone 69.3 69 70
U.S. Army
71. 4 7
Jupiter-C ? .
U.S. Army
Mercury - 83.38 83 80
Redstone
NASA Atlas n2 71 70

a. How much greater is the NASA Saturn I length than the
the U.S. Army Jupiter length? [3.NBT.2, 3.MD.3]

b. Use the information in the table to create a bar graph of
the rocket lengths rounded to the nearest ten feet. [3.MD.3]
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